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(10 43) &4l
Ty —To+x3—24=0
221 +4xo — Hxg+ Tx4 =0
ary + 3xg — 4x3 +6x4 =0

IfRASIa Vi, el
4.7}1 + 2.’E2 — 3!E3 + bI4 =0
5561 + 7562 — 9SC3 + 13(E4 =0
3r1 —3x2+3x3 — 224, =0

WIREZSIER Vo ) 1) a, b RAAEE, R =V @ Vs

(10 ﬁj\) & V= {(aij)nxn | VZ, j7 A = aji}

(1) UERH: V Ry ™ {23 1A] ;

(2) KV ByIEFGEEL.

(10%> &flz_l—’_xv f2:1—$2, f3:1—$3, 91:3’)—{1}'2, g2:$+m37 ‘/1:
L(f17 f27 f3)7 ‘/QZL(gh 92), EJE:

(1) Vi + Va (ERIZEEL
(2) Vi N Vy IYSERIAERL
(3) Va £ Rlz]s Z5[AIMIED.

(10 43) & €1, e N n HERRIRA ] VA BRALIEAZ s, 2 X
o(a) = o — 2(a, e1)er — 2(a, e2)er

R

(1) o &2 V R,

(2) Vo, BeV, (0(a),0(B)) = (a, ).

(10 43) B4 n BsERE A BB 1, IE: AP = tr(A)F 1A (W tr SHAERERE,
RIVRELRA: (%) A oo 2 )
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a b ¢ -1 -2 -1
AN. (104y) B A= |d e fl MR AT=2 1 o |, HEMEH®
h z vy 0o -3 -1

a—2b b—3c¢c —c
B=|d—2 e—3f —f|. RHPM X #HL:
h—2x -3y —vy

X 4+ (B(ATB) AT = X(A*(BTA)"'BT)"1 (A + B).

€. (10 4r) & V(F) @& n 48 &tE25m), o e L(V,V), iEH:
(1) 7£ Flz] B —MNREAET n? 20X p(x) # plo) = 0;
(2) o W > A BTN 0 AR plx)  plo) = 0.
JNL (10 4y) B4R V A o KT {an, as, as} IR AR 4R
1 2 -1
21 0
3 0 1
(1) 3K o FEFE {B1, B2, Bs} TXNWAIHFE B, Hrp:
B1 =201 + as + 3as, B2 = oy +ax + 203, f3=—a; + a2+ a3
(2) 3K o WEIE o(V) Rl kero;

(3) 8 o(V) MEY TN V IR, IR o XA X A RE;
(4) 8 kero WEY TN V 1YL, H3K o FEIXHIL T AR,
oo (20 48) FIBF AT, ZE R AN, WA RTRTE: % R am, 4
HH L p B S IR A A
(1) & on, o, ag EYEMX, W aq + ao, o + as, as+ a; WK
(2) — A BRYEL M2 R S RASF25 1] ;
(3) BEHloe L(V, V), dimV =n, W r(o)+dim(kero) = n 7]15 Imo +kero = V;
(4)

A
AN TALMIEREE n, J7FE A (BHEORT 1) 19 n YO A™ AR ARZT7 1, )
A ZRH.
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